' Serie 100 | Serie 200 | Serie 300 | Serie 400

Fér alla typer av maskiner
Fiir alle Typen von Maschinen
For all types of machines

Fér alla typer av maskiner
Fiir alle Typen von Maschinen
For all types of machines

For stand.-raksém
m fl maskiner
Fiir Schnellnéher und dhnliche
For straight sewingmachines
and similar

Fir overlock och korta maskiner
Fiir Uberwendlich
und kurze Maschinen
For overlockmachines and
similar with short arm

Serie 300 | Serie 600 | Serie 700 | Serie 8300

For stan.-raksom m fl maskiner
Fiir Schnellniiher und éhnliche
For straight sewingmachines
and similar

For overlock och korta maskiner
Fiir Uberwendlich- und
kurzen Maschinen
For overlockmachines
and such with short arm

For stand.-raksom m fl maskiner
Fiir Schnellniher und dhnliche
For straight sewingmachines
and similar

For overlock och korta maskiner
Fiir Uberwendlich und
kurzen Maschinen
For overlockmachines
and such with short arm
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